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Question Number : 1 Question Id : 3666944175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An organization awarded 48 medals in event *A’, 25 in event ‘B’ and 18 in event
‘C’. If these medals went to total 60 men and only five men got medals in all the
three events, then, how many received medals in exactly two of three events?

Options :

36669412981, 15

36669412982, °

36669412983, 10

36669412984, 21

Question Number : 1 Question Id : 3666944175 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U {1 5 Wi A § 48 95, fdifiar B # 25 ges T wiadifiiar C H 18 ues
feu| ofe 7% yad o 60 IoHl &1 B auT daa ulg ol & di-=i siaaifasd § ges &,
dl f&a geul &1 3 21 uiagiirarsii # ues i

Options :

36669412981. 15

36669412982. 9

36669412983. 10

36669412984. 21

Question Number : 2 Question Id : 3666944176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let (a. p. v) be the image of the point P (2. 3. 5) in the plane 2x + y— 3z = 6. Then
o+ P+ 7yi1sequal to

Options:
36669412985. 12
36669412986. 10

36669412987. 9

36669412988. 5

Question Number : 2 Question Id : 3666944176 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OHIfdg P (2.3, 5) BT UAdA 2x + y -3z = 6 HWfAfda (0. p. 1) B I Ao+ B+
IR &

Options :

36669412985. 12
36669412986. 10
36669412987. ©

36669412988. 5

Question Number : 3 Question Id : 3666944177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" - . ol Jj 7 J-'l ] E .
Consider ellipses Ep : km™+ iy*=1. k=1. 2...., 20. Let C;. be the circle which
touches the four chords joining the end points (one on minor axis and another on

major axis) of the ellipse E;. If 7 1s the radius of the circle Cp, then the value of
20
1

Y s
=17k

Options:

36669412989. 2870
36669412990. 3080
36669412991. 3210

36669412992, 3320



Question Number : 3 Question Id : 3666944177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST B, 2 b + k32 =1, k=1,2...., 20 D1 GAR BT | AFT ¢, T8 T &. Sl
SIdqd B, & 34 fagail (T oY 3 TR a1 GERI iel 3181 IR) B e areit

TR Sl 1 s e 3 1 AR g ¢, A B 2. Y L

=17k

Options:

36669412989. 2870
36669412990. 3080
36669412991, 3210

36669412992. 3320

Question Number : 4 Question Id : 3666944178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of triplets (x. y. ). where x. y. z are distinct non negative integers
satisfying x + y + z =15, is

Options :
36669412993. 136
36669412994, 114

36669412995. 92

36669412996. 80



Question Number : 4 Question Id : 3666944178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT (x, VZ)s gl x. y. z {99 BURR W%?ﬂﬂx +y+z=15 ﬁﬁg@ﬁﬁ%
CARIRCH A
Options :

36669412993. 136
36669412994, 114
36669412995, 92

36669412996. 80

Question Number : 5 Question Id : 3666944179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . Xx— 1 .
The number of integral solutions x of log, - | | =0 18
| X+ | V22X —3

Options :

36669412997. &

36669412998. 7

36669412999. 6



36669413000. 5

Question Number : 5 Question Id : 3666944179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" x—7

lmglx 5'"'?“ 3| =0 & quries gl x DI AT §

Options :

36669412997. 8

36669412998. 7

36669412999. 6

LN

36669413000.

Question Number : 6 Question Id : 3666944180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A be a2 = 2 matrix with real entries such that A'= o A + I, where

o €m —{—1. 1}. If det (A% — A) = 4. then the sum of all possible values of a is
equal to

Options :

b3 |un

36669413001.

36669413002.



36669413003. 2

36669413004. 0

Question Number : 6 Question Id : 3666944180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A GRGId Saud] BT U 2 « 2 Hogg § oD [(UA'=a A+1FE,

cEr —{-1,1} T | T det (A2-A) =4, @ o & G} F4a A BT TN RER 3

Options:

36669413001.

36669413002.

[ )

36669413003.

36669413004. 0

Question Number : 7 Question Id : 3666944181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let fx) =[1‘1 .1::| t{-x +[x]|. where x e R and [¢] denotes the greatest integer

less than or equal to 7. Then, f is
Options :

36669413005. not continuous at x=0 and x=1

36669413006. continuous at x=0 and x=1



36669413007, continuous at x=0, but not continuous at x=1

36669413008, continuous at x=1, but not continuous at x=0

Question Number : 7 Question Id : 3666944181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT £(x) =[x %] +|-x+[x]| 8. 561 xR B U [] HETH QUIT® <+ & I/

Options :

36669413005, x=0 TUI x=1 W Hqd 9ol o

36669413006, ¥=0 T x=1 W Hqd §

36669413007, ¥=0 TR Hdld 8. TR x=1 W ¥d Tei &

36669413008, ¥=1 TR T €. Tq x=0 TR Had el

Question Number : 8 Question Id : 3666944182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If equation of the plane that contains the pomt (—2,3.5) and 1s perpendicular to cach
of the planes 2x + 4y +5z=8and 3x — 2y +3z= 5 15 ux + Py + yz +97 = 0 then
a+B+y=

Options :

36669413009, 1°



36669413010, 16

36669413011, 17

36669413012, 18

Question Number : 8 Question Id : 3666944182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe Trad, foraH g (—2.3.5) T © qUT S & THaal 2x + 4y + 52 =8 AT
3x—2y+3z= 5% Gaad o, DI THIDHI m—ﬁ}'—*;fz—‘}?:t]g.ﬂ)[aﬁr B+vy=

Options :

36669413009. 15

36669413010. 16

36669413011. 17

36669413012. 18

Question Number : 9 Question Id : 3666944183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Area of the region {(x.y) : x>+ (y =22 <4.x2 > 2y } is
Options :

36669413013.



36669413014. 3

T+—
36669413015.

E:’r+1E

36669413016.

Question Number : 9 Question Id : 3666944183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

é_%a{(r}) : :c‘z + I':}f— ].:I2 =4, I2 > .2}" } 6 éfﬁqiﬁi %

Options:
8
']'[_ —
36669413013. 3
16
2n - —
36669413014, 3
T+ —
36669413015.
2m 4 16

36669413016. 3



Question Number : 10 Question Id : 3666944184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let £:[2. 4]— R be a differentiable function such that

(xlog, .Jr) " (Ji) +(]Dgt,.r]_}"(.r}+f(x] 2lxe [14] with f(2)=

and

k| =

f@==

=
Consider the following two statements :

(A): f(x)<1, forallx € [2, 4]

(B): flx) E% .forall x e[2. 4]
Then.
Options:

36669413017, Only statement (A) 1s true

36669413018, Quly statement (B) is true

36669413019, Both the statements (A) and (B) are true

36669413020, Neither statement (A) nor statement (B) 1s true

Question Number : 10 Question Id : 3666944184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TH£:[2. 4]~ R TP D19 Ba &, forgd g

(xlog, x) /" (x)+(logex) f (x)+f (x) 2 Lx €[2,4]. r@== T f(a)= %% |
9 < HuEl & faaR Sifve -

A IflxeR. P RTFx<18 1

(B) Tl x e[2, 4] & ferQ f{jx,]z% gl

Gl

Options :

36660413017, PO DY (A) T B
36669413018, POT HUT (B) A ©
36669413019, (A) TUI (B) &FI PUTHI &

36669413020, 1 0l BUT (A) T & DU (B) U ®

Question Number : 11 Question Id : 3666944185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let g be a non-zero vector parallel to the line of mtersection of the two planes
described by et } i+ and - } }'— k. If 0 is the angle between the vector g and
the vector 3_ ;27 +k andg .b = 6 » then the ordered pair [El, ax h‘ ] 1s equal

to

Options :

(5,3JE]
36669413021, \ 4

36669413022.



59
3

[Ej 3J6J
36669413023, \ 3

36669413024. \ 4

Question Number : 11 Question Id : 3666944185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M G4, i+k QYT i- 5, j—k eRI AU TT Sl GHdal & Uidwye- Wl &b
AR U@ LAR IR 4 ¢ | IR 4 qUAfe” 55 7.5 P
PITE B TAUT ;4.j = 6. dl PIFd TH [e, Q% b|) TRE

Options :

[Eﬁ 3\@]
36669413021. \ 4

—, f’.‘lJ
36669413022.[3

[Ej NEJ
36669413023, \. 3

36669413024, \ 4



Question Number : 12 Question Id : 3666944186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For any vector g = a, i+a, } +a.k, with 10|g|<1,i=1,2, 3,
consider the following statements

(A) : max {_al 14z,

} < |.t'i|

'”3|}

oty

(B) :|a <3 max [!m | 1

Options :

36669413025, Only (A) is true

36669413026. Only (B) is true

36669413027, Both (A) and (B) are true

36669413028, Neither (A) nor (B) 1s true

Question Number : 12 Question Id : 3666944186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bt WA G =g 7 +a,j+ak,. 101]<1,=1.2,3F [0 g ST 31

(A): max{ alé,ia3|,|f:3|} <|a| 8
(B) :la|= 3max[§a1|.§u2|.|ﬂg|} %
dl

Options :



36669413025, AT (A) I &

36669413026, 94 (B) I ®

36669413027, (A) TYT (B) &HI 9 &

36669413028, 1 Al (A) T8I (B) U ®

Question Number : 13 Question Id : 3666944187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let xy, x5, ..., Xy be 1n an arithmetic progression. with x; =2 and their mean equal
to 200.If y; =ifx;—i ), 1 £ i £ 100, then the mean of yy, ¥5,..., ¥y 18

Options :

36669413029. 10051.50
36669413030. 10049.50
36669413031. 10101.50

36669413032. 10100

Question Number : 13 Question Id : 3666944187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT x, X5..., X190, U0 THIGR S0 T 3, @1 @189 200 3 AU, =27 1 TS
y;=ifx;—i),1<i < 100 %‘ahl Woisivis }'m,}ﬁm?ﬂ%

Options :

36669413029. 10051.50
36669413030. 10049.50
36669413031. 10101.50

36669413032. 10100

Question Number : 14 Question Id : 3666944188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let wy be the point obtained by the rotation of z; = 5 + 47 about the origin
through a right angle in the anticlockwise direction, and w, be the poimnt
obtamned by the rotation of z, = 3+51 about the origin through a right angle in the

clockwise direction. Then the principal argument of w; —w, 1s equal to

Options :
m
36669413033.
—M+tan  —
36669413034.

mn
36669413035.

36669413036.



Question Number : 14 Question Id : 3666944188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ml 2y = 5 + 4i D1 Hd fdg & AU vs! of f[dRId (<=1 & T IHDI01 dob
A R [6g w, W 811§ AUl z, = 3+5: DI Gailag & A9& g1 Sl [GxM
U GHDIU T YA W (g w, I BIATS | T wy — w, PTHT SATH GRIER
g

Options :

M—tan ! E
36669413033. 5

-7+ ’fan'1 E
36669413034. 5

T —tan
36669413035.

O | e

—7 + tan~
36669413036.

WO | oo

Question Number : 15 Question Id : 3666944189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

log, 2

’ / VY
. = 3 .
The value of the integral j E‘xl log, lex +y1+e™” ) :fi"f 18 equal to
—logz2 - -
Options :
e |2 )| 5
08 | —T7—= |+
N1+45 | 2

36669413037.



2(2+45)° "‘_

J1+4/5

5

~
F

log,
36669413038.

“3{2+-¢Ej‘_:dg
\/1+J5- ) 2

log .
36669413039.

V2(3-45)

N1+ 5

5
+ —
2

log,
36669413040.

Question Number : 15 Question Id : 3666944189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

log 2 .-‘ y o
AP | exllogg[e‘w“lwh]:dx PHIHH SR §
T -
Options
oo [245) | B
g, | ~——= |+
NL+4/5 :
36669413037. /
; NEEE‘F\EJ ‘ 5
0g, | —/—— |- —
J1+45 2
36669413038.
(2(2+5)| /5
log,. \/1 = =
36669413039. F2

36669413040.



! ' T
V2(3- 5] ‘

J1+A5

5

b2

Question Number : 16 Question Id : 3666944190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set

Sz{BE[Q2HL3ﬂE*H—5cm2B—Emnﬁﬂ+lzﬂ} 15
Options :

36669413041. &
36669413042. 9
36669413043. 10

36669413044. 12

Question Number : 16 Question Id : 3666944190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= o 10 1 b, o al T f i
TH=g S—{HE[G;LI].BCOS B-5cos6—2sin” 6+ 2 [JJ{ ﬁmﬁwiﬁf
Options :

36669413041. &
36669413042. 9

36669413043. 10



36669413044. 12

Question Number : 17 Question Id : 3666944191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let S = {M = [ay] a; €{0. 1. 2}, 1=1, j =2} be a sample space and

A={M €5 : Misinvertible} be an event. Then P(A4) is equal to
Options :

47
36669413045, 51

36669413046, 27

36669413047. 81

36669413048, 81

Question Number : 17 Question Id : 3666944191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qETS = {M=[a,] a; €{0, 1, 2}, 1<i,j <2} U Ulda GHY g qul

A= {MeS: M PTG R}, U Te1 2 | 3l p4) SR 2

Options :



36669413045, 51

36669413046, 27

49
36669413047. 81

50
36669413048. 81

Question Number : 18 Question Id : 3666944192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let sets A and B have 5 elements each. Let the mean of the elements in sets A and
B be 5 and 8 respectively and the variance of the elements in sets A and B be 12
and 20 respectively. A new set C of 10 elements is formed by subtracting 3 from
each element of A and adding 2 to each element of B. Then the sum of the mean
and variance of the elements of C is

Options :

36669413049, -8
32
36669413050.

36669413051, 3©

36669413052, 40



Question Number : 18 Question Id : 3666944192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT 9= A H 5 3609 & aul 99=9 B ® W 5 3904 1 A 900l A 99T B & Egat
& HIE HER: 5 GYT § & SR 9wdl A GUT B & 390l & TR0 HARE 12 U 20 BIA F
TOE HEOg B § 3 el & aY1 B & U a0d § 2 Wig & 10 FTal &1 0% 391 9=
C S 91T 81 a1 C & Jfaadt & Hie quT e $1 4 §

Options :

36669413049. 38

36669413050. 32

36669413051. 36

36669413052. 40

Question Number : 19 Question Id : 3666944193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R be a rectangle given by the linesx =0, x =2, y=0and y = 3. Let A(o. 0)
and B (0. P). o € [0. 2] and P& [0. 5], be such that the line segment AB divides the
arca of the rectangle R in the ratio 4:1. Then, the mid-pomnt of AB lies on a

Options :
36669413053, straight line

36669413054, parabola

36669413055, hyberbola

36669413056. circle



Question Number : 19 Question Id : 3666944193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT x =0, x =2,y = 0qUTy = 5 GRI FfHd AMWAR © | TFT A(e, 0) TUT
B (0, B). o € [0, 2]. BE [0, 5] ST UPR ¢ [P TGS AB TId R & &89%d Bl
4:1 % 3Urd 4 §iedl & | df AB 1 H [dg Uh

Options :

36669413053, TR @I §

36669413054, TRAGT IR T

36669413055, HITIRATT UR &

36669413056, 31 1% g

Question Number : 20 Question Id : 3666944194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let v = y(x) be a solution curve of the differential equation.
(1 —x%4) dx = ydx + xdy.
If the line x = 1 intersects the curve ¥ = p(x) at y = 2 and the line x = 2 intersects

the curve y = y(x) at y = o. then a value of « 1s

Options :

-

3e”
—
36669413057, 2(3¢” —1)

36669413058.



13"
2(3¢% +1)

1+ 3¢

il
36669413059, 2(3¢” —1)

("

3&
1.
36669413060, 2(3e” +1)

Question Number : 20 Question Id : 3666944194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g d GHIBRUT

(1 —X“-:TE:I dx = ydx + xdy

PIEA TP y =p(x) T | AWM x=1.TB y = y(x) Py = 2 W BIEd & AU
x=2,ddy =}'(xjﬁj' = o WPl 5. dl aﬁl—fﬁfﬁrﬂ:{%

Options :

-

3e”
—_—
36669413057, 2(3e” —1)

1—3g2
Bl
36669413058, 2(3e” +1)

1+ 3¢

il
36669413059, 2(3¢” —1)

b

3e
—_
36669413060, 23" +1)



Mathematics Section B

SectionId: 366694241
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694241
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 3666944195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lem i 7 i . . i 2
The mean of the coefficients of x, x~,..., x' in the binomial expansion of (2 + xjg 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 21 Question Id : 3666944195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Q+x)° P EUG TR T x, x2...., x” b UIDI BT AT el

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666944196 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a line [ pass through the origin and be perpendicular to the lines
L7 =(i-115-7k)+ A(1+2]+3k), 2 € Rand

L, r::—-[—i +k) - u(li F214 Ili).__ue R .

If P 1s the point of intersection of [ and /. and Q (o¢, B. v) 1s the foot of

perpendicular from P on /5. then 9(t¢ + B + v) is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666944196 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

OH1 Ueh 31 [ 9 fdig I Bl STl & auT a1

7 :(1 ~11j- jk] + ,{(I +2]+ 31{)* AeR.

L:F f(.—i r Ir.) ; u(li 274 I:.) pe R

& daad g | afd 1 au 1, BT Uld=aA f[dg P& aur P 1, R T &I
TE Q (e, B 7) B. T 9(0c+f+y) TR T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666944197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The number of ordered triplets of the truth values of p, g and r such that the truth

value of the statement (pvg)a(pvr)=(gvr) is True. is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666944197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

P q qUT » & JgaH & Hiad Hol, ﬁ?ﬁ%ﬁm Y- {pvq}lﬁ{_pvr} =(gvr)
B G True §. D1 HLT SRER g

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666944198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a and b are the roots of the equation ¥ _Tx—1= 0, then the value of

Ariptt a7 5HT
3% 19

Response Type : Numeric

18 equal to

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666944198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B - 21 21 17 17
gfe TflaRu - 7 1= 0F qda U bl €+ *a +b R

ﬂ,l? 4 519

GREGE g |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666944199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
108 107 2

Let S=109+—+ +

+...+——+—— . Then the value of [1go_[227*] is
5 5107 108 [_.155 (25) ]“

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666944199 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

108 107 2
HEC SoE T
5 107

5 5
gl

Response Type : Numeric

1 P !
o g (165 (25)7*) PTHI RN

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666944200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For m,n>0. let o(m,n)= [t™(1+30)"dt. If 11a(10,6) + 18 a(11, 5) = p (14)°. then p

e e

15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666944200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 5
m.n> 0D U HAFAT wim,n) :_Ih.‘m(1+ ) '@ e | afe
1]

11a(10,6)+18 a(11,5) = p (14)° T p TR g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 27 Question Id : 3666944201 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
LED

bl | =

I
The number of integral terms 1n the expansion of | 32 4 §4 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666944201 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
LR

& TR d qUiies Ui 31 9= 8

3245

e | —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666944202 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



2 2
LetH,: £ _ Y _{n€ll Letk be the smallest even value of n such that the
i¥n 3¥n

eccentricity of Hy 1s a rational number. If [ 1s the length of the latus rectum of H.

then 21/ 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666944202 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

OETH,: X _ Y _) n eNE | HFI k. o O 98 a8 99 9 ¢ s fer

1+n 3+n
H, @1 Ich-sdl U URAY W1 € | fe 1y, @ el oftar &t e 17, ot 214
IR B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666944203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



=
[l

Let A=/a 0 3|.wherea.c€E. If 4% =4 and the positive value of a belongs
[ & D
to the interval (n — 1, n]., where » 2 1. then » 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666944203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g 1 2

AMET A=|a 0 _w.a.ce:_% | TfE _43=4 § TUT o BT ITHD A R
I ¢ 1

(n—1.7n] 88, Tl neN 8 df n OR6R 4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666944204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an examination. 5 students have been allotted their seats as per their roll
numbers. The number of ways. in which none of the students sits on the allotted
seat. 18




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666944204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U URIET H 5 BEI &I 31D AU A6R P IR Ui ol g g | 37 axiopl, ford
oI5 1t 33 A 8 e W8l daa1 ¢, BT I ®

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 366694242
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694242
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 3666944205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A transmifting antenna 1s kept on the surface of the earth. The mimimum height of
recerving antenna required to receive the signal in line of sight at 4 km distance

from it is x * 1072 m. The value of x is
( Let, radius of earth R = 6400 km)
Options :

36669413071. 1.25

36669413072. 12.5

36669413073. 125

36669413074. 1250

Question Number : 31 Question Id : 3666944205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U UUeh UfeAr & g2l & do W T 713 & $HE 4km &1 g0 W T2
T ede g & & o argr ofear efan (zag) o maTs
FIATH S8 x « 107 mE| x T AT &

(FTET, gedT @ =3 R=6400 km)

Options :

36669413071. 1.25
36669413072. 12.5
36669413073. 125

36669413074. 1250

Question Number : 32 Question Id : 3666944206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The logic performed by the circuit shown in figure is equivalent to :

¢l .—‘D—L—

b e——

Options:

36669413075. OR

36669413076. NAND

36669413077. AND

36669413078. NOR.



Question Number : 32 Question Id : 3666944206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fer & wefdia aRwy @t oot fFar o aF (@) faea & e &

a .—‘D}—L_

b e—

¥

Options :

36669413075. OR

36669413076. NAND

36669413077. AND

36669413078. NOR

Question Number : 33 Question Id : 3666944207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two radioactive elements A and B initially have same number of atoms. The half
life of A is same as the average life of B. If A, and A5 are decay constants of A and

B respectively. then choose the correct relation from the given options.

Options:

36669413079, /-aln2 =ig

36669413080, /-4 = /p In2

36669413081.



.;‘,__1,!L = "‘E

36669413082, /-4 = 2/8

Question Number : 33 Question Id : 3666944207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I ST Tl A Ud B & WRES &1 S TR E 0 8 | A DI 3G,
B @1 3HId 3] & 9 3| TfS ), Ud 15, A Ud B & HHTE: &7 o 6. dl
- f4u e fogedl 1 ¥ 98! 9@y gHT

Options:

36669413079, *aln2=4p
36669413080. 4 = /p In2
36669413081, A =B

36669413082, /-4 = 2/8

Question Number : 34 Question Id : 3666944208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A metallic surface is illuminated with radiation of wavelength A. the stopping
potential 1s V. If the same surface 1s illuminated with radiation of wavelength 2.

s

. : vV : :
the stopping potential becomes —2 . The threshold wavelength for this metallic
4

surface will be

Options :



A

i

36669413083.

| B | L]
©

36669413084.

36669413085.
36669413086.

Question Number : 34 Question Id : 3666944208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oot enfcde a1 &1 ). aTe e ardl fafewor I g fovan oiar g, forgraeT eh
fava v, g1 afs 39t 9 3 2. Taed ard fafd~or 9 weie favar S o e

faug ‘“T B ST S | 39 YTfes ad & [ Sed aured antt

Options :

)

i

36669413083.

I-..Il L]
©

36669413084.

36669413085.

36669413086.



Question Number : 35 Question Id : 3666944209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The critical angle for a denser-rarer interface 1s 45°. The speed of light in rarer

medium is 3 x 10% m/s. The speed of light in the denser medium is:

Options :

3 12 B
36669413087, - 1= 107 m's

36669413088, =12 10 m/s

5 LA
36669413089, 3 * 10" m/s

2 ]
36669413090. V2 %107 m/fs

Question Number : 35 Question Id : 3666944209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for it Tu-faRa SfoRUY ( interface) & foTU if~ies HI0T 45° B | ke Aregm
JHT D1 T 3 = 10° m/s B 1 I HIHH | UH &1 14 &

Options :

2.12 x 10% m/s
36669413087
36669413088, 212 10" ms

36669413089, 5 * 107 m/s



36669413090, V2 *10° m/s

Question Number : 36 Question Id : 3666944210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
N

Impedance
Curve A
> Curve B

e
-~

S (Hz)

As per the given graph. choose the correct representation for curve A and curve B.

{Where X~ = reactance of pure capacitive circuit connected with A.C. source
X =reactance of pure inductive circuit connected with A.C. source

R = impedance of pure resistive circuit connected with A.C. source.

Z = Impedance of the LCR series circuit}
Options :

36669413091, A~ Xc: B=Xg
36669413092, A= XL. B=2

36669413093, 4= X B=R

36669413094, A= XL, B=R

Question Number : 36 Question Id : 3666944210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

N
i

e
-

f(Hz)
feT gU 3R (%) & SFUR, 9% A Ud % B & oY I8! fadwed 4|
{TT8T X =A.C. (WTadh) Hd ¥ 98 Y& ¥R uRay &1 uiaemd
X; =A.C. 9id ¥ 95 gU Ig 1Y URTY &1 yfdurd

R =A.C. 9Id 9 I3 §U Y& UicRIy® g uRuy & giaardn
Z = 9Uilds LCR URUY S Uidaryn

Options :

36669413091, 4= Xc. B=Xp

36669413092, A= Xp. B=Z

36669413093, 4= Xc. B=R

36669413094, A= XL, B=R

Question Number : 37 Question Id : 3666944211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The electric ficld in an electromagnetic wave 1s given as

- |If X H 2
E=20smn® !—lh NC™
L cJ

where @ and ¢ are angular frequency and velocity of electromagnetic wave
. ' . 3 .
respectively. The energy contained in a volume of 5 * 10~ m? will be
; B o P IR
(Given € = 8-85 = 10 12 C</Nm~-)

Options :

.Q% =)
36669413095, 589 ¥ 107717

i —13
36669413096, 583 < 10777

- _13
36669413097, 283 < 1077171

: —13
36669413098, 177 ¥ 10777

Question Number : 37 Question Id : 3666944211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& faea gresm oo &1 Ay e fAeaa §

5 i { XY= I
E=20sma| t—=|) NC™
1

k. Cy

SEl o T ¢ FAA: FINT Igfed 9 RAYa gradhra aior 1 397 g1 5 -
107 m? & 3ITTdT H HAfase (Contained) FAT gaiN:

(AT e &) =8.85 x 10712 C2/Nm?)
Options :

: —13
36669413095, o 80 ¥ 1077



§ —13
36669413096, 583 < 107717

.5 —13
36669413097, =835 < 107717

. —13
36669413098, 177 < 1077 ]

Question Number : 38 Question Id : 3666944212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The free space inside a current carrying toroid 1s filled with a material of

susceptibility 2 x 1072, The percentage increase in the value of magnetic field
inside the toroid will be

Options :

30

36669413099, = °

0-2%

36669413100.

1%

36669413101.

36669413102. 0-1%

Question Number : 38 Question Id : 3666944212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U YRIATG] CRISS & Hed & Gad &I 31 2 x 1072 Fefafad ard gard 9
1R a1 a1 81 TRISS & 3ie, T &7 & 79 1 g5 UIad g ghik:




Options :

o173

36669413099, ="

LA
36669413100, 0 27°

1%

36669413101.

36669413102. 0-1%

Question Number : 39 Question Id

: 3666944213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The current sensitivity of moving coil galvanometer 1s increased by 25%. This
increase 18 achieved only by changing in the number of turns of coils and area of
cross section of the wire while keeping the resistance of galvanometer coil
constant. The percentage change in the voltage sensitivity will be:

Options :

+259,
36669413103,

_259%,
36669413104,
36669413105, Z¢1°

36669413106. —50%

Question Number : 39 Question Id

: 3666944213 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U I pacil YR B URT GATSIAT 25% T¢I a4l ol ¢ | T8 afG, Pocil b
Y31 &1 T, UG dR & 39 PIC §A%d § gRad- P 9 U il &,
oafar R B psal Bl UiaRlY fgd I@1 S1a1 3 | diec sl gaiear § gaf

fa=Td gad- s

Options :

+25%

36669413103.

50/

36669413104, - °°

36669413105. L

36669413106. —50%

Question Number : 40 Question Id : 3666944214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1dentical heater filaments are connected first in parallel and then in series. At
the same applied voltage. the ratio of heat produced in same time for parallel to
series will be:

Options :

36669413107.1: 4

36669413108. 4 : 1

[ ]

36669413109. 1 :

| ]
—

36669413110.



Question Number : 40 Question Id : 3666944214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bled @ o TH=Y [hardel &1 Ugd YR %4 H [the 40f &H 8§ SIS i)
g | 9O RIfYd fava & o, g9 990 & 99M=R 6F 3 309 SN &
4t A H Tad ST 30Td ST

Options:

36669413107.1: 4

36669413108. 4 : 1

[ ]

36669413109. 1 :

| ]
—

36669413110.

Question Number : 41 Question Id : 3666944215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor of capacitance 2 F is charged to a potential V, The energy
stored in the capacitor 1s E{. The capacitor is now connected to another uncharged

identical capacitor in parallel combination. The energy stored in the combination
is E5. The ratio E,/E; 1s :

Options:

[ ]

36669413111. 1 :

| ]
—

36669413112.

| ]
L)

36669413113.



36669413114.1: 4

Question Number : 41 Question Id : 3666944215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 F YTRGT aTel U YHHTIR il GURA DI v [dyd dob S1aiRrd fear orar
2| o 3 W Sul 1AM E, 31 3 39 ot & fardt gaR amey
HATARIT GoTRA & 1Y GEFR o8 E Sl Sdl § | Gater § Siad Sull &1
UM E, 81 3FUId E,/E, &

Options :

| ]

36669413111. 1 :

| ]
—

36669413112.

| ]
L]

36669413113.

36669413114.1: 4

Question Number : 42 Question Id : 3666944216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The variation of kinetic energy (KE) of a particle executing simple harmonic
motion with the displacement (x) starting from mean position to extreme position
(A) 1s given by

Options :

36669413115.



ke |

0
Ao
i 1
KE |
0 A
36669413116. = —

0 A
36669413117. X
A
KE
0 A
36669413118. 2y

Question Number : 42 Question Id : 3666944216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mmﬁﬂ%mﬁ?wmﬂ;,mmwﬁmﬁ#aiﬁﬂ
(@H) Rufa (A) 9F, 395 RBEuw (x) & 319 357 afaer Fa1 (KE)
# qRad, Aeaad fgar T &

Options:

36669413115.



ke |

0
A (x) =
i 1
KE |
0 A
36669413116. X —

ke |

0 A
36669413117. X
A
KE
0 A
36669413118. 2y

Question Number : 43 Question Id : 3666944217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three vessels of equal volume contain gases at the same temperature and pressure.
The first vessel contains neon (monoatomic), the second contains chlorine
(diatomic) and third contains uranium hexafloride (polyatomic). Arrange these on
the basis of their root mean square speed (v, ) and choose the correct answer

trom the options given below:

Options :



36669413119, Vrms (mono) = v (dia) = v, . (poly)

36669413120. ¥rms (mono) < Vims (dia) < Vims {pﬂl}r}

36669413121, ¥rms (mono) = Vims (dia) = Vims {pﬂl}r}

36669413122, Vems (dia) < v, (poly) < vy, (mono)

Question Number : 43 Question Id : 3666944217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UM A aTd dF gaH1 5 9719 99 U9 818 1R 14 6@ 8% © | U8 aad
T (H3H (U IRETUEH), 33X g0 § FARIA (G9RI10EH), U6 drEe §0- 4

QR T RIS S (SERHVEN) T €1 576, 57eb1 ol HIE 30 =TT (vyy0)
@ 3MUYR UR FdRYd B Ud A fGU Y [depedl & 9 Fel SR IH:

Options :

36669413119, Vrms (mono) = v (dia) = v, . (poly)

36669413120. “rms (mono) < Vims (dia) < Vims {pﬂl}’}

36669413121, ¥rms (mono) = Vims (dia) = Vims {pﬂl}r}

36669413122, Vems (dia) < v, (poly) < vy, (mono)

Question Number : 44 Question Id : 3666944218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
1 kg of water at 100°C is converted into steam at 100°C b}' boilincr at atmospheric
pressure. The volume of water changes from 100 x 10~ m® as a liquid to

1:671 m® as steam. The change in internal energy of the system during the process

will be

(Given latent heat of vaporisaiton = 2257 kl/kg. Atmospheric pressure =
1 x 10° Pa)
Options :

36669413123, — 2090 kJ
36669413124, + 2090 kI
36669413125, — 2426 kI

36669413126, + 2476 kI

Question Number : 44 Question Id : 3666944218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100°C TR 1 Kg Il Bl JaT0BR aHUS N 316 UR 100°C B 4710 H gRafid
[T ST & | 91T &7 3aH. 1.00 < 107 m® %9 1-671 m® Y19 § uRaldd 8l
ST 8 | 39 UhH & GRM, Fo B 3iaRe SHal & gU IRdd &1 @iy 311
Tl

(f&a 3. STfiepRuT &1 T ST = 2257 ki/kg, TRIAUSHIG &@ = 1 « 10° Pa)

Options :

36669413123, — 2090 kI

36669413124, + 2090 kI

36669413125, — 2426 kI



36669413126, + 2476 kI

Question Number : 45 Question Id : 3666944219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a temperature scale 'X', the boiling point of water 1s 65° X and the freezing
point is —15°X. Assume that the X scale is linear. The equivalent temperature
corresponding to —95° X on the Farenheit scale would be:

Options :

36669413127, —48°F
36669413128. —63°F
36669413129. —112°F

36669413130. —148°F

Question Number : 45 Question Id : 3666944219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fept ATgaTdt & THM X R U &1 F9Y=i® 65° X Ud [oH® -15°X 8 | HFTX
U1 3414 § | BRAGIEE YA TR -95° X & ITd. qed aT9qH g

Options :

36669413127, —48°F

36669413128, —63°F

36669413129, —112°F



36669413130. —148°F

Question Number : 46 Question Id : 3666944220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radii of two planets 'A' and 'B' are 'R' and 4R’ and their densities are p and
p/3 respectively. The ratio of acceleration due to gravity at their surfaces (g4 : gg)

will be:
Options :

36669413131, 3 : 16
36669413132. 4 : 3
36669413133. 3 : 4

36669413134.1: 16

Question Number : 46 Question Id : 3666944220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l 76l 'A' 3R 'B' &I AT 'R TG 4R’ §. UG 3% 9-cd AL p TG p/3 T
31 eRTA! IR T[¥cdg @RUN B 3IU1d (g4 : gg) BITE

Options :

36669413131. 3 : 16

36669413132. 4 : 3

36669413133, 3 : 4



36669413134. 1 : 16

Question Number : 47 Question Id : 3666944221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the v - t graph shown. the ratio of distance to displacement 1 25 s of motion
18

N A

Options :

36669413135. 1

|._,|||—l

36669413136.

L] I L

36669413137.

L [ I L]

36669413138.

Question Number : 47 Question Id : 3666944221 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X B v — ¢ SIIRE T, 25 YPHUS D1 71 & SR 0 i 715 g3l U4 [dwUTIA
&1 3 o

o \

Options:

36669413135. 1

ba| —

36669413136.

Tea I L

36669413137.

L [ I Tea

36669413138.

Question Number : 48 Question Id : 3666944222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A coin placed on a rotating table just slips when 1t 15 placed at a distance of 1 cm
from the center. If the angular velocity of the table in halved. it will just slip when placed
at a distance of from the centre :

Options :

36669413139. 1 em
36669413140. 2 cm
36669413141. 4 cm

36669413142. 8 cm

Question Number : 48 Question Id : 3666944222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fordlt ol g% O R U Ryaep] 3@ ©. fe g &1 65 9 1 om 1 gl W
T W1 8, Al Ug [hae ol o | afe 1o &1 vty a7 sl &R fagr o 8.,
ot gt forg O R P IR FR 3, 98 @

Options :

36669413139. 1 cm

36669413140. 2 em

36669413141. 4 em

36669413142. & cm

Question Number : 49 Question Id : 3666944223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

An average force of 125 N 1s applied on a machine gun firing bullets each of mass
10 g at the speed of 250 m/s to keep it in position. The number of bullets fired per
second by the machine gun is

Options :

36669413143. 5

36669413144. 100

L
=

36669413145.

| )
i

36669413146.

Question Number : 49 Question Id : 3666944223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 ¢ SOOHH dTeil el 1 250 m/s B T1id © SFTA! g% U HYH TH (Sgd) Bl
ferd fRufd ¥ 7 & o, 39 W SRIMd S{¥d 9 125 N & | 3= T gR1
&I 1T, Ui Y Us Tiferl &1 e 6:

Options :
36669413143. 5
36669413144. 100

36669413145, 50

36669413146. 25

Question Number : 50 Question Id : 3666944224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statements I : Astronomical unit (Au), Parsec (Pc) and Light year (ly) are units for
measuring astronomical distances.

Statements IT : Au < Parsec (Pc) <ly

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

36669413147, Both Statements I and Statements II are correct,

36669413148. Both Statements I and Statements II are incorrect.
36669413149, Statements I 15 correct but Statements I 1s incorrect.

36669413150. Statements [ i1s incorrect butStatements II 1s correct.

Question Number : 50 Question Id : 3666944224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T BT U MU E:

B I TN SPT (Au). TRYP (Pe) T4 TR Y (ly) Grlcid gRai =
& fou gl €1

FHYTIL : Au < URUF (Pe) <ly
SWRIad DUl & Sdie 1, A= fGU T f[dded| & 3 Jaiite Iugead 3w 94|

Options :

36669413147, PYUT1Td HY 11 &HI Tel o

36669413148, PUAIUd HYFII &I TTeid o |



36669413149, PYUT 1 e § g U 11 o7 B

36669413150, PUT 1710 &, fg PUT 1 HEl €1

Physics Section B

Section Id : 366694243
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694243
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 3666944225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A monochromatic light 1s mncident on a hydrogen sample in ground state.
Hydrogen atoms absorb a fraction of light and subsequently emit radiation of six

different wavelengths. The frequency of incident light is x » 10'° Hz. The value of
X 18

(Given h = 4.25 = 10713 eVs)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666944225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g2 alor FA Gl fd T 3fadT H ¢, IR Uhaauiig YebT= 3afad slal g |

B2 Sl URATY] YehTR] 1 P HIT SaRNNd Hdl & Ud dedyld & HTH-3fe
AT BT [dfdhuT Ifoid Bl g | STUfid YbT=1 &1 31gid x x 101 Hz 81 x
GAREIC Bl

(eare. h=425 » 10715 eVs)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666944226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The radius of curvature of each surface of a convex lens having refractive index 1.8 iz
20 em. The lens is now immersed in a liquid of refractive index 1.5. The ratio of
power of lens 1n air to 1ts power i the liquid will be x : 1. The value of x 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666944226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.8 3{UGdHIP aldl 30 O & aeb DI (ol 20 em © | 34 39 ¥ DI 1.5
3{YacHic dId %d § Sardl o] ¢ | a1 H ol &1 Qfdd P 5d § 59! Afad o
A x: 181 xHTHA gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666944227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



. ' . Aow
The magnetic field B crossing normally a square metallic plate of area 4 m* 13
changing with time as shown in figure. The magnitude of induced emf in the plate

during t =25 tot=4s. 18 mV.
B I: 1

P e ot

| R ;_;r"f ;

| - D

. B :// i !

- 1 I ! | '

2 Cod _

[s=]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666944227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
41112mmﬂmmﬁwwmwm3#
AT & |9 IREd, O 7 wefdiid §1 §HTt=25 Ft=4sF &R, =i
# IRa ﬁ?[gﬂ' dig® dd (emf) BT AA nﬂ-"%l

B (mI)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 54 Question Id : 3666944228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the circuit diagram shown in figure given below. the current flowing through

: e B
resistance 3 Q15 — AL

The value of x 1s

6L

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666944228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= fed 7o o o vefdfa uRuy & 30 o ufeiy © yarfed arn E AR x DI
o= gl

6L}
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666944229 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

As shown in the figure. a configuration of two equal point charges (qp=+2n C) is

placed on an mclined plane. Mass of each poimnt charge 1s 20 g. Assume that there
1s 110 friction between charge and plane. For the system of two point charges to be

in equilibrium (at rest) the height h=x » 10~ m.
The value of x 1s

I

dme

9% 10°Nm’ C j,ls: IDmsj]

(Take




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666944229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2 o SR 38R, 20 ¢ SOFHM a1 &l 99 fag 316 (qp =+ 2u C) UH
3Tl el UR T € | T SATGRI Ud el b s g uu e! 6| Al feg ST
F PO S AT RRF T h=x x 103 m Tl x FTAA gl

1
@t —

dre

]
(1]

9x10°Nm* C j_g IUmsj‘p

o,

qg

|
|
:
|
L 30e 4y

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666944230 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The equation of wave 1s given by

Y =102 sin 2% (160 —0-5x +m/'4)

where x and ¥ are in m and t in 5. The speed of the wave 1s kmh™.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666944230 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fepalt o1 T gm0 FEad

Y =102 sin 2n (160t — 0-5x + m/4)

el x U8 y fiex A U8 + Ywus H 8| 30 &1 91 km/h B
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666944231 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The length of a wire becomes [; and /5 when 100 N and 120 N tensions are applied
respectively. If 10 /; = 11 [}, the natural length of wire will be £ 1- Here the

X
value of x 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666944231 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dR @1 TRl 1, U4 [, B Sl 6. o/d 59 U= $hHRT: 100 N U9 120 N d=dl
IR DI S €13l 101, =111, 8. A IR B! aTKIdD Ty %EIEﬁTﬁ |
TGl x B O gl |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666944232 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A solid sphere of mass 500 g and radius 5 cm 1s rotated about one of its diameter
with angular speed of 10 rad s71. If the moment of inertia of the sphere about its

. St . .
tangent 1s x * 107 tumes its angular momentum about the diameter. Then the value
of x will be



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666944232 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

500 g ZodH Ud 5 em 1 dTd U 319 7Id B 58D U o9 & URd: 10 rad
1 1 DIV I1e J THT Sl © | Tl TTiel BT 39+t =il & HI9& TS cargul,
S & YIY& SHP DIV HaAT DT x < 1072 71§ | Tl x BT BT |

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666944233 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

= =7 ; : a - iy
Aforce p_ (7 43y); acts on a particle in the x direction where F 1s in newton

and x 18 in meter. The work done by this force during a displacement from x =0 to
x=4m. s T

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666944233 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
P PR R A T £ _ (5 1 34); SR [T A G, ST6TF YA H €
a?r{ﬂﬂﬂ_?% | faRIT x = 0 ¥ x = 4 HIeX & SR 99 R fdar T s

1% |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666944234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A projectile fired at 30° to the ground is observed to be at same height at time 3s

and Ss after projection, during its flight. The speed of projection of the projectile 1s

m 5_1.

(Giveng=10m s_:')

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 60 Question Id : 3666944234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

eRTAT Y 30° & DIV UR &It fovam 771 vejw, Yamur & ugid, 3509 & GRH
3¢ U4 5¢ TR 9 $dTg UR Ul SId1 § | Hew &1 Heyu 9rd m s!
gl

(m% g=10m §2)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Sub-Section Number : 1

Sub-Section Id : 366694244
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A :  In the photoelectric effect, the electrons are ejected from the metal
surface as soon as the beam of light of frequency greater than threshold frequency
strikes the surface.

ReasonR:  When the photon of any energy strikes an electron in the atom.
transfer of energy from the photon to the electron takes place.

In the light of the above statements, choose the most appropriate answer from the
options given below :

Options :

36669413161, Both A and R are correct and R is the correct explanation of A

36669413162, Both A and R are correct but R 1s NOT the correct explanation of A

36669413163. A 1= correct but E. 1= not correct

36669413164. A is not correct but B 1s correct

Question Number : 61 Question Id : 3666944235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- &l U AU 51 U SHUPU A § 3R GEI BRUIR §
HfHHYT A

m%@umﬁmﬁ%wmmmﬁmﬁaﬁ?ﬁmﬂ
¥ BIdl 3. S &1 ¢RIl § ol qd gadeiHl &l FShTeE Bidl

HRUIR

oTq [t 2+t STl 1 BieH U § U Soiae J RIdl § df BieH 9 Jall
gageH of ”FTGRT 8idl &

SRIFT HYUl & [T all¥d Iugad IR $I g1 -4 (4 faPpedl & 9

Options :

36669413161, A JUTR M| Ue! ¢ AR R el RS & A DI

36669413162, A TUTR &I el § TR R e oI el ¢ A Dl

36660413163, A 6! 8 IR ITAA ©

36669413164, A 7100 & WG R e &

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-T with List-11 :

List-I Species List-II Geometry/Shape
eatl’ I. Tetrahedral

B. Acetylide anion i L

C.NH;" III. Pyramidal

D. CI0y e

Choose the cormrect answer from the options given below:
Options :

36669413165, A-IIL B-IL C-L D-IV

36669413166. A-IIL B-L C-II. D-IV

36669413167, A-IIL B-IV, C-1. D-II

36669413168, A-IIL B-IV, C-II. D-I

Question Number : 62 Question Id : 3666944236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 fire =l 11 J Difore -

SCARTIEIE] S CANEE CEELAR
e | IFAPE

B. UHifedIss R &g

C. NH,~ 1. fRfAEST

D. C10,- v 481 g%

i e famedl § 9 g1 SR gL

Options:

36669413165, A-IIL B-IL C-L D-IV



36669413166, A-IIL B-I. C-II. D-IV
36669413167, A-IIL B-IV, C-I. D-II

36669413168, A-IIL B-IV, C-II. D-1

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 mL of silver nitrate solution (1M) is added dropwise to 25 mL of potassium iodide

(1.05 M) solution. The 1on(s) present in verv small quantity in the solution 1s/are
Options :

36669413169, I enly

36669413170, Ag™ and I" both

36669413171, K only

36669413172, NO3~ only

Question Number : 63 Question Id : 3666944237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RreaR A1g¢e (1M) & 25 mL 368 ®f d&-gg B Uy HEisEs (1.05M)
& 25 mL faag= & foremn man 31 fowma & oifa e amn § it orae Sufud 8
W

Options :



36669413169, I~ &ad

36669413170, Ag+ TUT 1" &

36669413171, K~ &ad

36669413172, NO3~ $Hac

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For elements B, C, N, L1, Be, O and E, the correct order of first ionization enthalpy is
Options :

36669413173. Li<Be<B<C=<N<=0<F
36669413174. Li=<B<Be<C<0O=<N<F
36669413175. B>Li=Be>C>N>=0>F

36669413176. Li<Be<B<C<0<N<F

Question Number : 64 Question Id : 3666944238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ddl B. C. N. Li. Be. O TUT F & folT UUH 10—+ TS &1 Tl hH ©
Options:

36669413173. Li<Be<B<C=<N<O0<F



36669413174. Li=B<Be<C<0O<N<F

36669413175. B>Li=Be>C>N>=0>F

36669413176. Li<Be<B<C<0O<N<F

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the extraction process of copper, the product obtained after carrying out the
reactions

(1) 2Cu,S + 305 — 2Cu,0 + 250,
(ii) 2Cu,0 + Cu,yS — 6Cu + SO,  is called
Options:

36669413177. Copper matte

36669413178 Copper scrap

36669413179, Blister copper

36669413180, Reduced copper

Question Number : 65 Question Id : 3666944239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



W?Wﬁmmﬁﬁﬁ@aaﬂﬁmﬁwﬁ%wmmmﬁ
®gd

(i) 2Cu,S + 30, — 2Cu,0 + 250,

(11) 2Cu,0 + CuyS — 6Cu + 80,

Options :

36669413177, BIIR T¢

36669413178, IO LhY

36669413179, &% HIUT

36669413180, AT HIA

Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement-1 :  Methane and steam passed over a heated Ni catalyst produces hyvdrogen gas.

Statement-11 : Sodium mitrite reacts with NH,Cl to give H,O, N5 and NaCL

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

36669413181, Both the statements I and I are correct

36669413182, Both the statements I and II are incorrect

36669413183. Statement I 15 correct but Statement I1 1s incorrect

36669413184. Statement I 1z incorrect but Statement I1 15 correct



Question Number : 66 Question Id : 3666944240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AR I AR

HUA 1 : BT TUT T $I 7TH Ni ISRE R Ualied H1 R elggo 1
ST el @

DY 11 : QIFSTH A5 I NH,C1 BT ffeHar & 8 H,0, N, T NaCl.

Options :

36669413181, PUT I AUTHYT I I T8l &

36669413182, BUT I YT HYT 11 41 7Tad &

36669413183, PUT 1 eI § TRg PUA NI ©

36669413184, PUT 1710 § TR YU 11 el €

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-T with List-11:

List-I List-11

A K L. Thermonuclear reactions
B.KC1 II. Fertilizer

C.KOH III. Sodium potassium pump
|2 i 51 IV. Absorbent of CO,

Choose the correct answer from the options given below :
Options :

36669413185, A-IV. B-1. C-III, D-I1

36669413186, A-IV. B-III, C-1. D-II

36669413187, A-IIL B-IV, C-II. D-I

36669413188, A-IIL B-IL C-IV. D-1

Question Number : 67 Question Id : 3666944241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl 1 p1 i 11 F e Sifor -

-1 11
A K @ 1. dgTHD HTHIh ]
B KCl 11 3dd
|C. KOH 111, GifEas giefRmd 9
D.Li V. CO, @ Sfa<ii¥dy
=i &0 72 f9dedi § 9 98l IR e
Options :

36669413185, A-IV. B-L C-IIL D-II

36669413186, A-IV, B-III, C-I. D-II



36669413187, A-IIL B-IV, C-II. D-I

36669413188, A-IIL B-IL C-IV. D-I

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For compound having the formula GaAlCl, | the correct option
from the following is

Options :

36669413189. Oxidation state of Ga in the salt GaAICl, 1s +3.

36669413190. Ga 1s coordmated with Cl in GaAICl,

(Ga 1s more electronegative than Al and 1s present as a cationic part of the salt
36669413191, GaAlCly

36669413192, C1 forms bond with both Al and Ga in GaAlCl,

Question Number : 68 Question Id : 3666944242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
GaAICL, YA & Al & fog FafdRad & 3 9el fdpa g

Options :

36669413189, JTCC GaAICl, H Ga DI STGRITHRUI TR +3 B



36669413190, GaAICL, H Ga STHEHTINT & C1 ¥ |

Al BT 3UET Ga 30 [d5Gd HUMHS T 3R TIeT Gaalcl, T 4GS U
36669413191, P ¥ H IURUA & |

26660413107, GRAICL T Cl, A1 TUT Ga GIFT H TG G T

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following complex has a possibility to exist as meridional
isomer?

Options :

36669413193, LCOMNH3)3(NO,)3]

36669413194, 1C0 (el

36669413195, (00 (em2Clel

36669413196, Lt (NHz):2 Cl]

Question Number : 69 Question Id : 3666944243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g T ey W T waifre gHgad (Meridional 1somer) HEqH qa ST
B UTT 2
Options :

36669413193, LCOMNH3)3(NO)s]

36669413194, L-o(en)s]

36669413195, LCO(eMCh]

HNH.)-(Cl
36669413196, [PICVH3)(CL]

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The set which does not have ambidentate ligand(s) 1s

Options:

4— 1 — g4 F=
36669413197, EDTAT. NCS™. G0,
36669413198, NO7 ™. €047, EDTA*
36669413199, €20 43_. ethylene diammine, H,O

. - i s
36669413200, €204~ - NO, . NCS

Question Number : 70 Question Id : 3666944244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e forad Sy forrs e 8. a8 ®

Options :

" S 7
36669413197, EDTA . NCS™. G50,

o - = 4=
36669413198, NO2 . €047, EDTA

: % _
36669413199, C20,7. TIUTe SIEUHM. H,0

; 2— s i
36669413200, €204, NO, 7, NCS

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: If BOD is 4 ppm and dissolved oxygen 1s 8 ppm. then 1t 1s a good
quality water.

Statement IT: If the concentration of zine and nitrate salts are 5 ppm each, then it
can be a good quality water.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

Both the statements I and IT are correct

36669413201.

36669413202. Both the statements I and II are incorrect

36669413203. Statement I is correct but Statement I1 1s incorrect



36669413204. Statement I 15 incorrect but Statement 11 15 correct

Question Number : 71 Question Id : 3666944245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

RGPy e

ﬁﬂ:f% i oid &I BOD 4 ppmﬁ?‘i’%ﬂ Hwﬁqﬁpp111%ﬁﬁﬁﬁw
DIl

HYF 11 : Ife o quTA5ec Uieel 3 I T0® B! IFEdT 5 ppm © df o 1
TUIGdl 3=31 81 9l ol

SRIgd HUAl & o i B dwedl § § gaifve sfug 3w difou

Options:

36669413201, PUF 1 AU HUF I &I el 5 |

36669413202, BYUT I AU YT 11 S TTad B

36669413203, PUT1 Tl ¢ aUl HYF 11 TTAd 5 |

36669413204, PUTITTAA & AT HYT 11 Fo! 5|

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Thin layer chromatography of a mixture shows the following observation:

»
A .

*+ B

The correct order of elution in the silica gel column chromatography 1s

Options :

36669413205. B. C. A

36669413206. A- C. B

36669413207. C-A. B

36669413208. B-A. C

Question Number : 72 Question Id : 3666944246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS B0l 1 gl IR SHCUG! HafiRad Ha aiidi 3 -

™
A -

*+ B

fferent o ier i H [H&Te o1 Jel 1 &

Options :

36669413205. B. C. A

36669413206. A- C.B



36669413207. C-A. B

36669413208, B- A. C

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds in increasing order of rate of aromatic
electrophilic substitution reaction

OH OH o OH
a b c d
Options :

36669413209, C: 2 P d

36669413210, Ps ¢, a, d

36669413211, 4= P: €, @

36669413212, 4. b, a, ¢

Question Number : 73 Question Id : 3666944247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Riffew gage Wel ufawime sfiifear X & ved o # Fafafaa aifts!
&I galyd Piforg

OH OH 0 OH
a b C d
Options :

36669413200, & & P d

36669413210, P: G a, d

36669413211, d: b: ¢ @

36669413212, & P2, ¢

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

= 3 Cl : = 7’ Nt
19 Nu L. | M
g e — N
MeO OMe
2 3 A i A
=M Cl - i Nu
(\/ Nu [ |T (1)
; R — ¥ i
04N 05N

Where Nu = Nucleophile

Find out the correct statement from the options given below for the above 2
reactions.

Options :

':.Ild
Fa

36669413213, Reaction (I) 1s of 1% order and reaction (II) is of 2%¢ order



36669413214, Reactions (I) and (II) both are of 1% order

~nd
=

36669413215, Reactions (I) and (II) both are of 2" order

36669413216, Reaction (I) is of 274 order and reaction (II) is of 1% order

Question Number : 74 Question Id : 3666944248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cl Nu
Nu
—_—
MeO OM

e

Cl Nu
Nu
—_—
O,N O,N

TR Nu = frrerdr

D

(1)

SURIG 2 Afiicbarafi & fey -4 f3u faseai 4 9 98l oy f-1u.

Options :

36669413213, ATHPAT (1) T B 1 g 3R siffesar () fgda sife 1 8
36669413214. Hffear (I) T fffeear (II) qHl g—’[ JUH B DI %

36669413215. 3fffehar (I) T 3fffehan (IT) EAE]] éﬁ[ %_Cﬂu BIfe Bl %

36669413216. Sfffepar (I) fgdia ®ifc ot % AR fiferan (II) WYH DIfc DI %‘



Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

()

R (i) NH,NH,, KOH

KMNO, 'A’ (Major Product) — -
(if) Hy0 (Major Product)

(R = alkyl)
‘A’ and ‘B’ in the above reactions are:
Options :

CO,H

CO,H
) — it /J‘\//\/CHS
36669413217. } A~ CHO-AB-R

o

: COH=AB= / NH-NH
/\/“&// : RfWC NH-NH,

CO.H 0, NHNH 0
Il

36669413218, *

0
/J'l\/"\/\ e N = T o, W oo W N
36669413219, ® COH=A B=R CO,H

0
= . e e
36669413220, R /H\MCHD A B=R CH,4

Question Number : 75 Question Id : 3666944249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



0

: KMNO, A’ (FET ) ) Dl KOH b
s A'(HEH )

(i) Hy0" (T IR

SWRIgd fufhar § §&0 3dE AGUIB B
R = Ufema)

Options:

Co,H CO,H

/I\/\/CHO=A.=B=R/J\/\/€H3

36669413217. K

CO.H o, NHNH

/\/VCOH=A:E=R{’/~

36669413218.

0
/ﬂ‘\/’\/\ e = R e e
36669413219, ® COH=A B=R CO,H

0
= . i T N
36669413220. R /lLV’\/’\CHD A B=R CH,4

C-NH-NH,

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
The complex that dissolves in water 1s

Options:

Fe(OH),(OAc):] Cl
36660413221, T ©3(OH)2(0AC)]

K.[Co(NO-,
36669413222. Al SoNO )l



Fe,[Fe(CN).1-
36660413223, T 4TS (N)sls

NH,);[As(Mo;0
36660413224, i4)3[As(Mo3010)4]

Question Number : 76 Question Id : 3666944250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a8 Uod Sl o/d 3§ gadl 8. 8

Options :

36669413221, T ©3(OH)(0AC)] Cl

K:' [CD13'0 '\jﬁ]
36669413222. E i

Fe,[Fe(CN)1-
36660413223, T 4TS (N)sls

NH,);[As(Mo;0
36660413224, T 4)3lAs(MO3010)q]

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HNO,

o-Phenylenediamine o

Major Product

X' 18
Options:



~4
36669413225. '2
:{"-'b
QL
N~
36669413226. H

::: N2
36669413227. NH
36669413228.

Question Number : 77 Question Id : 3666944251 Question Type : MCQ Option Shuffling : Yes Is

2
rF4

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o-FRdFeEH N2
HE 3dlq

ST HfufpaE x 8

Options :

36669413225. N,

36669413226.



H
+.
z joehN2
36669413227. NH,
NH
36669413228.

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The polymer X - consists of linear molecules and 1s closely packed. It 1s prepared
in the presence of triethylaluminium and titanium tetrachloride under low
pressure. The polymer X is-

Options :

36669413229, Polytetrafluoroethane

36669413230, Polyacrylonitrile

36669413231, High density polythene

36669413232, Low density polythene

Question Number : 78 Question Id : 3666944252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

F50® X D U3 9 &1 § 3R [Hde =u H Talerd 8 9! HEi
a@a@%ﬁmﬁmﬁaﬁﬁﬁﬂﬁmww

SIaI 8 1 950P X ©

Options :

36669413229, TTCIE CTHTSRITYH

36669413230. E“Eﬂ Tl EEER

36669413231, 3= 9 giadi—

36669413232, I T Tiferd=

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L-1somer of tetrose X (CHgO,) gives positive Schiff's test and has two chiral

carbons. On acetylation. 'X' yields triacetate. 'X' also undergoes following reactions

IAI I‘I{DE IXI xﬂBHj_ 'BI
Chiral compound
X' 1s
Options :
CHO

HO H

HO H
36669413233. CH,0H

36669413234,



H OH
Q H
CH,O0H
CHO
H OH
HO —— - H
36669413235. CH,OH
H OH
HO H
2 H
CH-,OH
36669413236. 3

Question Number : 79 Question Id : 3666944253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST X (C,H0,) BT L THIGYd BRI [R5 Ul <l § | X P1 UHiiee,
crgudice aarg | x Fafafad sivfead #xargi

A ENG3 ¢ NaBH4 B'
GARRIRIIRIGH
Options:

36669413233.



CHO

HO H
HO H
CH,0H
H OH
H OH
D H
36669413234. CH,OH
CHO
H OH
HO —— . H
36669413235, CH,OH
H OH
HO H
f:} H
36669413236. CH,0H

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a solution of mixture having two inorganic salts was treated with freshly
prepared ferrous sulphate i acidic medium, a dark brown ring was formed
whereas on treatment with neutral FeCls. it gave deep red colour which disppeared

on boiling and a brown red ppt was formed. The mixture contains



Options :

36669413237, €204 & NO5~

36669413238, CH3C00™ & NO5~

36669413239, SO3° & CH3C00"

36669413240, 5037 & G047

Question Number : 80 Question Id : 3666944254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l S{PTEH Hieel & [HH & fqeaH &1 od Sl J1erd § qid it iRy
b & [daa § IR BRd g dl U T BT Iad §d1 § el 3G
FeCl; ¥ SUTIRT $R- IR ITER1 A1d 1 UId 511 § | T8 <1 [de1a &l Jara- |)

3G Ol § SR R-A1e 1 1 a9 Frarar g
fiyeor & Sufua §

Options :

36669413237, €204 & NO3~

36669413238, CH3C00™ & NO;~

36660413239, SO3°~ & CH3C00™

36669413240, 5037 & G047
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Question Number : 81 Question Id : 3666944255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A solution of sugar is obtained by mixing 200g of its 25% solution and 500g of its
40% solution (both by mass). The mass percentage of the resulting sugar solution
13 (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666944255 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT BT U faed= 9% 25% a9 & 200g TUT 40% faTT & 500¢ BT IS
PR G101 8 (1 GoadHl IR S1UTRd §) IR Wy urd 91+ & faaa=
@1 ufdwd digarg GETLERUICED)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An atomic substance A of molar mass 12 g mol™! has a cubic crystal structure with
edge length of 300 pm. The no. of atoms present in one unit cell of A 1s

. (Nearest integer)
Given the density of A is 3.0 gmL™ and N, =6.02 » 1023 mol™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666944256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AR o0 12 ¢ mol™! & TP WRHIUGS Yoy A B I 41 &, ot
HR TETg 300 pm | eI A B TP 5015 9 & IURYT WRHEU[S & I §
(Feead QUi 4 ) (f[GaT : APT U@ 3.0 gmlIN, =

6.02 x 102> mol™)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Solid fuel used in rocket is a mixture of Fe;05 and Al (in ratio 1:2). The heat

evolved (kJ) per gram of the mixture 1s (Nearest integer)
Given: s_"'.er (Al,O3)=-1700 kJ mol ]
AH{® (Fe,05) = -840 kJ mol™!

Molar mass of Fe. Al and O are 56. 27 and 16 g mol™! respectively

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666944257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIde H Iudi a1 SH aTal 314 38 Fe,0; TUT A1 T 1:2 ST 4 0T g
T ST (k) Wifd gy @ et a8 @ (e quie
o)

fgarg AHP (A1,05)=-1700 kJ mol™!

AH? (Fe,03) = -840 kJ mol™
HITR Go0HM : Fe. A1 dYT O & HHIL:

56,27 AT 16 g mol™
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

0.004 M K580, solution 1s 1sotonic with 0.01 M glucose solution. Percentage

dissociation of K580, 1s (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666944258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

0.004 M K,S0, &1 [d@0- 1@ & 0.01 M a8 I THRRRI §1 K,S0, F
gfa=rd fagrem g (Macan quie 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A mixture of 1 mole of H,O and 1 mole of CO is taken in a 10 litre container and

heated to 725 K. At equilibrium 40% of water by mass reacts with carbon
monoxide according to the equation: CO(g) + H,O(g) = CO,(g) + H,5(g). The

equilibrium constant K x 107 for the reaction is . (Nearest integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666944259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1 Hid H,0 U1 1 HId CO & YU &l 10 Tiex & & H d 725 K IR TH

a1 81 T GRIT H OId BT 40% (S0HH T) Bla- AFTiaags o
frafefad aHiieRu AR sififea Frar g

CO(g) + H,0(g)= CO,(g) + Hy(g)

SHfiforar & forw 9 RIS K, < 102 & (Mdcan quie
)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an electrochemical reaction of lead. at standard temperature, if

E (Pb/Pb) =M Vol uc of E (Pb2/Pb*)

1s given by m — xn. The value of x 18 .(Nearest integer)

1t. then the val

t and EU(PbJ,_I_.ij =n Vo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666944260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢lS @I HFP dY R Us [degd-Immi-e sfifbardaie &' pb2 /Pb) =m
Ul E’(Pb*"/Pb) =n dglee g dl E (Pb>/Pb*) HIAF CAT & m—xn. x B AN

d

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
KClO4 + 6FeS0, + 3H,80, — KCl + 3Fe,(80,); + 3H,0

The above reaction was studied at 300 K by monitoring the concentration of
FeSO, in which mitial concentration was 10 M and after half an hour became 8.8

M. The rate of production of Fe,(SOy); 15 x10 8 mol L7171

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666944261 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



KCIO; + 6FeSO, + 3H,50, — KCl + 3Fe,(S0,); + 3H,0

QURIad HUHTT BT 3T 300 K U FeSO,, I Jigdl H1Y & {1 71|
SO URIN® FigdT 10 M ot 37R 3mer 9¢ 9YTd 8.8 M 1 TR

Fe5(SO,); @ SIEd @1 &X © x107% mol L~! s

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The ratio of spin-only magnetic moment values uﬂﬂ-[Cr[CN)ﬁ]E_ [ Pafr [Cl‘(H:D}5]3+
15

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666944262 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
DG YU & I (- Tl BT Surd

Hegr [CH(CN)]*~ / pogr [Cr(H,0)6]>" e




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
OH
Me

HBr

} |A|
Major Product

The number of hyperconjugation structures involved to stablize carbocation
formed in the above reaction is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666944263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OH

HBr

3y A

i s

TRIFd fufeear § [fig v o =i vem o33 8§ gmfeg sifd
QI TR B G e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0 OH

l;._ . _.-UH x mol of MeMgBr ~OH

H -
(v mole) H.O" H

Me

The ratio x'y on completion of the above reaction is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666944264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

o OH
g 1L - OH  x mol of MeMgBr . ’ ok OH
RGN 5 Me
(v mole) H,0 b
SWRI SHfHfchar & gul 8- TR x'y &l U

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



